Mental test

Solve w/o pen and paper
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Find LACB.




Find the ratio of values ZADC and 2ABC.
D




In the given figure, O is the centre
of circle. ZAOB = 80° and £AOC =
120°. Find £BAC:

o=t R # 0 g @ &y ¥ 2A0B =
80° 31T LAOC = 120° ¥ @Y 2BAC=?

a) 120° b) 80°
c) 100° d) None of the above




In the given figure, ABC
is an isosceles triangle
in which AB = AC and
£ABC =50°, «BDC:

ABC U& H¥Fgladarg TAsTsr
¥ s aB - AC 3R
<ABC=50° § dY ~BDC=?
a) 80° b) 60°

c) 65° d) 100°




In the given figure,
AB is the diameter.
£BAD = 70° and 2DBC
= 30°. Find m 4£BDC:
T ™ R & A =
2] 2BAD = 70° 3i¥ ~DBC
=30° § @ «BDC=?

a) 25° b) 30°

c) 40° d) 60°




C

In the given figure, AB is the
diameter of the circle. £ADC =
120°. Find #«COB:
AB fRHY g9 #1 =arw § AR zADC =
120° § @ 2cOB=?
a) 60° b) 30°
c) 40° d)Can’t be determined




-

O is centre of circle and
£2ADC = 140°. Find 2zBAC.

o Bt g@ #1 &y ¥ Ik
LADC = 140° §| BAC =?




In the given figure
£ PSR=105° and
PQ is the diameter
of the circle. What
is the value (in
degrees) of LQPR?
& wE afa A
£PSR=105° d4T PQ
qa & AW 3§
£ QPR &1 AR i

ad Fam 2
a) 75 b) 15
c) 30 d) 45
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In the given figure,
£AOC = 120°. Find
m 2CBE, where O is
the centre:

ffr ™ R*F & 2A0C
= 120° g m <«CBE
gl F AR O g I
T shg & an:

a) 60° b) 100°
c) 120° d) 150°
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In the given figure, O is
the centre of circle,
£AOB = 100°. Find
£BCD:

O gd & #g 8, LAOB =
100° §| ~BCD=?

a) 80° b) 60°

c) 50° d) 40°

| | 11



Triangle PQR is inscribed in
a circle such that P, Q and R
lie on the circumference. If
PQ is the diamemter of the
circle and 2<PQR = 40,
then what is the value (in
degrees) of ZQPR?

UF ga A TS PaR W
YR 3fHa & fF P, Q auT R
w fafda 8 af pa g@ #
ST & 9°T 2PQR = 40° ¥,
£QPR &1 A (Bl &)

2
a) 40 b) 45
c) 50 d) 55
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Find 2BAC.




Find £ACD, if O is the centre.

14
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In the given figure, O is
the centre of the circle
and 2 QOR = 50,
then what is the value
of 2RPQ (in degrees)?

ar w§ T A 0 TH
gd FT Hg ¢ a9T LQOR

= 50° & d 2RPQ &I
A (3 &) Far 82

a) 15 b) 25
c) 20 d) 30
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Find 2£BCD.

16



In the given figure OX, OY
and OZ are perpendicular
bisectors of the three sides
of the triangle. If 2QPB=65"
and 2PQB=60" then what
is the value (in degrees) of
£QO0B+ £POB?

& g amsfa & ox, ov 3oz
ﬁﬂa'ﬁTdﬁﬁ et F a9
aﬁ‘aﬂﬁ HIK S AQPB 65 and

£PQB=60" & d QOB+ ~POB
& AT (Bt ) 7w &2

a) 250 b) 180
c) 210 d) 125
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In the given figure O is the
centre of the circle AC and BD
intersects at P. If LAOB =
100° and «£DAP = 30°

then what is the value of
¢AEB : £APB?

A & 7 WHfa A, 0 ga F
¥ ¥ AC 3T BD, P W WhASE
¥WNd  § 9§ 2AOB=
100° AT LDAP = 30° ar
LAEB: £APB &1 AT 4T §?
a)1:3 b) 1:4

c)2:5 d) 1:5




The length of chord of a
circle is equal to the
radius of the circle. The
angle which this chord
subtend in the minor
segment of the circle is
equal to

Pt ga A ww Sfar Hr
aEE sEdr Bewm &

aTel ST &HT AT
a) 30 b) 45
c) 60 d) 150
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In the adjoining figure,
chord ED is parallel to the
diameter AC of the circle.
If £ZCBE = 65°, then what
is the value of 2DEC?

& o$ ansfa F g F S
ED, 4T AC & WHAWAX B
3T «CBE=65° § &
£DEC T HTT FIT gM?

a) 35° b) 55°
c) 45° d) 25°
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ABCD is a cyclic
quadrilateral with
AB//DC and AB is
diameter of the circle. If
£CAB = 30° ,then

LADC =

ABCD UF TfFhd Tqsi ¢
S 4AB//DC 3R~ AB
AT | 39X 2CAB = 30°
g ar z4DC =

a) 60 b) 120

c) 150 d) 30

| | 21
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